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Value putting Method
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Concept:

𝑺𝒐𝑺 = 𝟎∗
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The simplest form of expression 
𝒑𝟐−𝒑

𝟐𝒑𝟑+𝟔𝒑𝟐 +
𝒑𝟐−𝟏

𝒑𝟐+𝟑𝒑
+

𝒑𝟐

𝒑+𝟏

𝒑𝟐−𝒑

𝟐𝒑𝟑+𝒑𝟐 +
𝒑𝟐−𝟏

𝒑𝟐+𝟑𝒑
+

𝒑𝟐

𝒑+𝟏
को सरल करें|

a) 𝟐𝒑𝟐  b) 
𝟏

𝟐𝒑𝟐  c) 𝒑 + 𝟑  d) 
𝟏

𝒑+𝟑

5
SSC CGL T1, 20 Jul  2014 S1Alg (VP) b  



The value of 
𝟏

𝒂𝟐+𝒂𝒙+𝒙𝟐 −
𝟏

𝒂𝟐−𝒂𝒙+𝒙𝟐 +
𝟐𝒂𝒙

𝒂𝟒+𝒂𝟐𝒙𝟐+𝒙𝟒 

a) 2  b) 1  c) -1  d) 0

6Alg (VP) d  



If 𝒂 + 𝒃 = 𝟏, find the value of 𝒂𝟑 + 𝒃𝟑 − 𝒂𝒃 − 𝒂𝟐 − 𝒃𝟐 𝟐
 

अगर 𝒂 + 𝒃 = 𝟏 है तो 𝒂𝟑 + 𝒃𝟑 − 𝒂𝒃 − 𝒂𝟐 − 𝒃𝟐 𝟐 का मान:
a) 0   b) 1   c) -1   d) 2

7Alg (VP) a  



If 𝒂 + 𝒃 = 𝟏 and 𝒂𝟑 + 𝒃𝟑 + 𝟑𝒂𝒃 = 𝒌, then the value of k is
अगर 𝒂 + 𝒃 = 𝟏 और 𝒂𝟑 + 𝒃𝟑 + 𝟑𝒂𝒃 = 𝒌 तो k का मान:
a) 1   b) 3   c) 5   d) 7

8Alg (VP) a  



If 𝒙 + 𝒚 = 𝟕, then the value of 𝒙𝟑 + 𝒚𝟑 + 𝟐𝟏𝒙𝒚 is
अगर 𝒙 + 𝒚 = 𝟕 है तो 𝒙𝟑 + 𝒚𝟑 + 𝟐𝟏𝒙𝒚 का मान:
a) 243   b) 143  c) 343   d) 443

9
SSC CGL T1, 01 Jul 2017 S2Alg (VP) c  



If 𝒙 + 𝒚 = 𝟑 then what is the value of 𝒙𝟑 + 𝒚𝟑 + 𝟗𝒙𝒚?
यदि 𝒙 + 𝒚 = 𝟑 हो,  तो 𝒙𝟑 + 𝒚𝟑 + 𝟗𝒙𝒚 का मान क्या है?
a) 15  b) 81  c) 27  d) 9

10
SSC CGL T2, 18 Feb 2018Alg (VP) c  
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If 𝒂 +  𝒃 =  𝟏, then 𝒂𝟒 + 𝒃𝟒 − 𝒂𝟑 − 𝒃𝟑 − 𝟐𝒂𝟐𝒃𝟐 + 𝒂𝒃 is equal to
यदि 𝒂 +  𝒃 =  𝟏 है, तो 𝒂𝟒 + 𝒃𝟒 − 𝒂𝟑 − 𝒃𝟑 − 𝟐𝒂𝟐𝒃𝟐 + 𝒂𝒃 ककसके 
बराबर होगा ?
a) 1  b) 2  c) 4  d) 0

SSC CGL T2, 30 Nov 2016Alg (VP) d  



If 𝒂𝟐 + 𝒃𝟐 = 𝟐 and 𝒄𝟐 + 𝒅𝟐 = 𝟏 then the value 𝒂𝒅 − 𝒃𝒄 𝟐 +
𝒂𝒄 + 𝒃𝒅 𝟐 is
अगर 𝒂𝟐 + 𝒃𝟐 = 𝟐 और 𝒄𝟐 + 𝒅𝟐 = 𝟏 तो 𝒂𝒅 − 𝒃𝒄 𝟐 + 𝒂𝒄 + 𝒃𝒅 𝟐:
a) 

𝟒

𝟗
   b) 

𝟏

𝟐
   c) 𝟏   d) 2

12Alg (VP) d  



If 𝒂𝟐 + 𝒃𝟐 + 𝒂𝒃 + 𝒂𝟐 + 𝒃𝟐 − 𝒂𝒃 = 𝟏, then what is the value 

of 𝟏 − 𝒂𝟐 𝟏 − 𝒃𝟐  ?

यदि 𝒂𝟐 + 𝒃𝟐 + 𝒂𝒃 + 𝒂𝟐 + 𝒃𝟐 − 𝒂𝒃 = 𝟏हो,तो 𝟏 − 𝒂𝟐 𝟏 − 𝒃𝟐  

का मान क्या होगा?
a) 

𝟏

𝟒
  b) 

𝟒

𝟕
 c) 

𝟓

𝟒
 d)

𝟑

𝟒

13
SSC CGL T2, 19 Feb  2018 Alg (VP) d  



If 𝟏 − 𝒑𝟐 𝟏 − 𝒒𝟐 =
𝟑

𝟐
. Then what is the value of 𝟐𝒑𝟐 + 𝟐𝒒𝟐 + 𝟐𝒑𝒒 +

𝟐𝒑𝟐 + 𝟐𝒒𝟐 − 𝟐𝒑𝒒 ?

यदि 𝟏 − 𝒑𝟐 𝟏 − 𝒒𝟐 =
𝟑

𝟐
है, तो 𝟐𝒑𝟐 + 𝟐𝒒𝟐 + 𝟐𝒑𝒒 + 𝟐𝒑𝟐 + 𝟐𝒒𝟐 − 𝟐𝒑𝒒 का 

मान क्या है?

a) 2  b) 𝟐  c) 1  d) none of the these

14
SSC CGL T2, 09 Mar  2018Alg (VP) b  



If 𝒙 =
𝟑

𝒂 + 𝒂𝟐 + 𝒃𝟑 +
𝟑

𝒂 − (𝒂𝟐+𝒃𝟑) then 𝒙𝟑 + 𝟑𝒃𝒙 is 

equal to

अगर 𝒙 =
𝟑

𝒂 + 𝒂𝟐 + 𝒃𝟑 +
𝟑

𝒂 − (𝒂𝟐+𝒃𝟑) है तो   𝒙𝟑 + 𝟑𝒃𝒙

ककसके समान है?
a) 0  b) a  c) 2a   d) 2

15Alg (VP) c  



If 𝒙𝟏𝒙𝟐𝒙𝟑 = 𝟒 𝟒 + 𝒙𝟏 + 𝒙𝟐 + 𝒙𝟑 , then what is the value of 
𝟏

𝟐+𝒙𝟏
+

𝟏

𝟐+𝒙𝟐
+

𝟏

𝟐+𝒙𝟑
?

यदि  𝒙𝟏𝒙𝟐𝒙𝟑 = 𝟒 𝟒 + 𝒙𝟏 + 𝒙𝟐 + 𝒙𝟑 हो , तो  𝟏

𝟐+𝒙𝟏
+

𝟏

𝟐+𝒙𝟐
+

𝟏

𝟐+𝒙𝟑
का 

मान क्या है? 

a) 1  b) 
𝟏

𝟐
  c) 2  d) 

𝟏

𝟑

16
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Find 𝒂𝒃 𝒂 + 𝒃 + 𝒃𝒄 𝒃 + 𝒄 + 𝒄𝒂 𝒄 + 𝒂 + 𝟑𝒂𝒃𝒄, if 𝒂 + 𝒃 + 𝒄 =
𝟏𝟕 and 𝒂𝒃 + 𝒃𝒄 + 𝒄𝒂 = 𝟔?
यदि 𝒂 + 𝒃 + 𝒄 = 𝟏𝟕 और 𝒂𝒃 + 𝒃𝒄 + 𝒄𝒂 = 𝟔 हो तो 𝒂𝒃 𝒂 + 𝒃 +
𝒃𝒄 𝒃 + 𝒄 + 𝒄𝒂 𝒄 + 𝒂 + 𝟑𝒂𝒃𝒄 का मान ज्ञात करें?
a) 42  b) 119 c) 102  d) 23

Alg (VP) c  



If 
𝐚

𝐛+𝐜
+

𝐛

𝐚+𝐜
+

𝐜

𝐚+𝐛
= −𝟑 and 𝒂2 + 𝒄2 = 𝟐𝒃² then 𝒂𝒃 + 𝒃𝒄 + 𝒂𝒄 =? 

यदि 𝐚

𝐛+𝐜
+

𝐛

𝐚+𝐜
+

𝐜

𝐚+𝐛
= −𝟑 और 𝒂2 + 𝒄2 = 𝟐𝒃² तो 𝒂𝒃 + 𝒃𝒄 + 𝒂𝒄 =?

(दिया गया है कक 𝒂 + 𝒃 + 𝒄 ≠ 𝟎)

a) 𝒄  b) 𝒄𝟐  c) 
𝒃2

𝟑
  d) −𝒃²

Alg (VP) d  
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𝒂𝒃 𝒂 − 𝒃 + 𝒃𝒄 𝒃 − 𝒄 + 𝒄𝒂(𝒄 − 𝒂) is equal to:
𝒂𝒃 𝒂 − 𝒃 + 𝒃𝒄 𝒃 − 𝒄 + 𝒄𝒂(𝒄 − 𝒂) ननमंललखित में से ककसके बराबर 
है?
a) 𝐚 + 𝐛 𝐛 − 𝐜 𝐜 − 𝐚    b) 𝐚 − 𝐛 𝐛 + 𝐜 𝐜 − 𝐚
c) 𝐚 − 𝐛 𝐛 − 𝐜 (𝐜 − 𝐚)  d) 𝐛 − 𝐚 𝐛 − 𝐜 𝐜 − 𝐚

SSC CGL T2, 13 Sep 2019Alg (VP) d  
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𝒙 𝒚 − 𝒛 𝒚 + 𝒛 + 𝒚 𝒛 − 𝒙 𝒛 + 𝒙 + 𝒛(𝒙 − 𝒚)(𝒙 + 𝒚) is equal to:
𝒙 𝒚 − 𝒛 𝒚 + 𝒛 + 𝒚 𝒛 − 𝒙 𝒛 + 𝒙 + 𝒛(𝒙 − 𝒚)(𝒙 + 𝒚) बराबर है :
a) (𝒙 + 𝒚)(𝒚 + 𝒛)(𝒛 + 𝒙)  b) (𝒙 − 𝒚)(𝒙 − 𝒛)(𝒛 − 𝒚)
c)(𝒙 + 𝒚)(𝒛 − 𝒚)(𝒙 − 𝒛)   d) 𝒚 − 𝒙 (𝒛 − 𝒚)(𝒙 − 𝒛)

Alg (VP) d  
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Find the value of (𝒂 + 𝒃 + 𝒄)𝟒−(𝒃 + 𝒄)𝟒 − 𝒄 + 𝒂 𝟒 − 𝒂 + 𝒃 𝟒 + 𝒂𝟒 +
𝒃𝟒 + 𝒄𝟒.
(𝒂 + 𝒃 + 𝒄)𝟒−(𝒃 + 𝒄)𝟒 − 𝒄 + 𝒂 𝟒 − 𝒂 + 𝒃 𝟒 + 𝒂𝟒 + 𝒃𝟒 + 𝒄𝟒 का मान 
ज्ञात करो | 
a) 𝟏𝟐𝒂𝒃𝒄 (𝒂 + 𝒃 + 𝒄)  b) 𝒂𝒃𝒄 (𝒂 + 𝒃 + 𝒄)
c) 2     d) 𝒂𝒃𝒄

Alg (VP) a  
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Find the value of 𝒃𝒄 + 𝒄𝒂 + 𝒂𝒃 3 − 𝒃3𝒄3 − 𝒄3𝒂3 − 𝒂3𝒃3.
𝒃𝒄 + 𝒄𝒂 + 𝒂𝒃 3 − 𝒃3𝒄3 − 𝒄3𝒂3 − 𝒂3𝒃3 का मान ज्ञात करो |

a) 𝟑𝒂𝒃𝒄 𝒂 + 𝒃 𝒃 + 𝒄 𝒄 + 𝒂   b) 𝒂 + 𝒃 𝒃 + 𝒄 𝒄 + 𝒂  
c) 𝒂 − 𝒃 𝒃 − 𝒄 𝒄 − 𝒂    d) 𝟐𝟒 𝒂𝒃𝒄 

Alg (VP) a  
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Find the value of 𝒂𝟒 𝒃2 − 𝒄2 + 𝒃𝟒 𝒄2 − 𝒂2 + 𝒄𝟒(𝒂2 − 𝒃2). 
𝒂𝟒 𝒃2 − 𝒄2 + 𝒃𝟒 𝒄2 − 𝒂2 + 𝒄𝟒(𝒂2 − 𝒃2) का मान ज्ञात करो |  
a) 𝟑𝒂2𝒃2𝒄²
b) 𝒂2 − 𝒃2 𝒃2 − 𝒄2 𝒄2 − 𝒂2

c) − 𝒂2 − 𝒃2 𝒃2 − 𝒄2 𝒄2 − 𝒂2

d) 𝒂2 + 𝒃2 𝒃2 + 𝒄2 𝒄2 + 𝒂2

Alg (VP) c  
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Find the value of 
𝒂³(𝒃+𝒄)

(𝒂−𝒃)(𝒂−𝒄)
+

𝒃³(𝒄+𝒂)

(𝒃−𝒄)(𝒃−𝒂)
+

𝒄³(𝒂+𝒃)

(𝒄−𝒂)(𝒄−𝒃)
.

𝒂³(𝒃+𝒄)

(𝒂−𝒃)(𝒂−𝒄)
+

𝒃³(𝒄+𝒂)

(𝒃−𝒄)(𝒃−𝒂)
+

𝒄³(𝒂+𝒃)

(𝒄−𝒂)(𝒄−𝒃)
का मान ज्ञात करो |

a) 𝒂𝒃𝒄  b) 𝒂 + 𝒃 + 𝒄  c) 𝒂𝒃 + 𝒃𝒄 + 𝒄𝒂  d) 3

Alg (VP) b  
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(𝟒𝒙𝟑 𝒚 − 𝟔 𝒙𝟐 𝒚𝟐 + 𝟒𝒙 𝒚𝟑 − 𝒚𝟒)  
can be expressed as:
(𝟒𝒙𝟑 𝒚 − 𝟔 𝒙𝟐 𝒚𝟐 + 𝟒𝒙 𝒚𝟑 − 𝒚𝟒)  
को कैसे ललिा जा सकता है:
a) (𝒙 − 𝒚)𝟒 − 𝒙𝟒

b) (𝒙 + 𝒚)𝟒 − 𝒚𝟒

c) (𝒙 + 𝒚)𝟒 − 𝒙𝟒

d) 𝒙𝟒 − (𝒙 − 𝒚)𝟒

SSC CHSL 9 Dec 2019 S1Alg (VP) d  
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SSC CGL T2, 8 August 2022 S1

What is the simplified value of
𝒙+𝒚+𝒛 𝒙𝒚+𝒚𝒛+𝒛𝒙 −𝒙𝒚𝒛

(𝒙+𝒚)(𝒚+𝒛)(𝒛+𝒙)
 ?

𝒙+𝒚+𝒛 𝒙𝒚+𝒚𝒛+𝒛𝒙 −𝒙𝒚𝒛

(𝒙+𝒚)(𝒚+𝒛)(𝒛+𝒙)
का सरलीकृत मान

ककतना होगा?
a) 𝒚  b) 𝒛  c) 𝟏   d) 𝒙 

Alg (VP) c  



Simplify the given expression.
दिए गए व्यंजक का मान ज्ञात करें|

𝒙 −
𝟐

𝒙

3
− 𝒙 +

𝟐

𝒙

3
 

a) −𝟒 𝟑𝒙 +
𝟒

𝒙𝟑     

b) −𝟒 𝟑𝒙 −
𝟒

𝒙𝟑

c) −𝟒 𝒙 +
𝟒

𝒙𝟑     

d) 𝟐 𝒙 −
𝟒

𝒙𝟑

SSC CHSL 2020
27Alg (VP) a  
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If 𝟒𝒙 + 𝟐𝒚 𝟑 + 𝟒𝒙 − 𝟐𝒚 𝟑 = 𝟏𝟔 𝑨𝒙𝟑 + 𝑩𝒙𝒚𝟐 , 

then what is the value of
𝟏

𝟐
𝑨𝟐 + 𝑩𝟐?

यदि 𝟒𝒙 + 𝟐𝒚 𝟑 + 𝟒𝒙 − 𝟐𝒚 𝟑 = 𝟏𝟔 𝑨𝒙𝟑 + 𝑩𝒙𝒚𝟐 , 

तो 𝟏

𝟐
𝑨𝟐 + 𝑩𝟐 का मान क्या है?

a) 8  b) 3  c) 5  d) 7 

SSC CGL T1, 11 Apr 2022 S2 Alg (VP) c  



If (𝟑𝒙 + 𝟐𝒚)𝟑 + (𝟑𝒙 − 𝟐𝒚)𝟑 = 𝟑𝒌𝒙 (𝟑𝒙𝟐 + 𝟒𝒚𝟐), then the value of k will 
be: 
यदि (𝟑𝒙 + 𝟐𝒚)𝟑 + (𝟑𝒙 − 𝟐𝒚)𝟑 = 𝟑𝒌𝒙 (𝟑𝒙𝟐 + 𝟒𝒚𝟐), है, तो k  का मान ज्ञात
करें|
a) 18 b) 9 c) 3 d) 6

SSC CHSL 2020
29Alg (VP) d  



If 𝒙 = 𝒂 +
𝟏

𝒂
 and 𝒚 = 𝒂 −

𝟏

𝒂
, then the value of  𝒙𝟒 + 𝒚𝟒 − 𝟐𝒙𝟐𝒚𝟐 =?

अगर 𝒙 = 𝒂 +
𝟏

𝒂
 और 𝒚 = 𝒂 −

𝟏

𝒂
है तो 𝒙𝟒 + 𝒚𝟒 − 𝟐𝒙𝟐𝒚𝟐 =?

a) 24   b) 18  c) 16   d) 12

30Alg (VP) c  



If 𝒙 =
𝒂

𝒃
+

𝒃

𝒂
, 𝒚 =

𝒃

𝒄
+

𝒄

𝒃
 and 𝒛 =

𝒄

𝒂
+

𝒂

𝒄
, then what is the value of 𝒙𝒚𝒛 −

𝒙𝟐 − 𝒚𝟐 − 𝒛𝟐?

यदि  𝒙 =
𝒂

𝒃
+

𝒃

𝒂
, 𝒚 =

𝒃

𝒄
+

𝒄

𝒃
 तथा 𝒛 =

𝒄

𝒂
+

𝒂

𝒄
 है, तो 𝒙𝒚𝒛 − 𝒙𝟐 − 𝒚𝟐 − 𝒛𝟐 का 

मान क्या है? 
a) -4  b) 2  c) -1  d) -6 

31
SSC CGL T2, 18 Feb 2018Alg (VP) a  



If 𝒂 + 𝒃 + 𝒄 = 𝟎, then the value of  
𝒂𝟐+𝒃𝟐+𝒄𝟐

𝒂𝟐−𝒃𝒄
 is

अगर 𝒂 + 𝒃 + 𝒄 = 𝟎 है तो 𝒂𝟐+𝒃𝟐+𝒄𝟐

𝒂𝟐−𝒃𝒄
का मान:

a) 0  b) 1   c) 2   d) 3

32Alg (VP) c  



If 𝑿 + 𝒀 + 𝒁 =  𝟎, then what Is the value of 
𝟑𝒚𝟐+𝒙𝟐+𝒛𝟐

𝟐𝒚𝟐−𝒙𝒛
? 

यदि 𝑿 + 𝒀 + 𝒁 =  𝟎 हो, तो  𝟑𝒚𝟐+𝒙𝟐+𝒛𝟐

𝟐𝒚𝟐−𝒙𝒛
 का मान क्या है?

a) 2  b) 1  c) 
𝟑

𝟐
  d) 

𝟓

𝟑

33
SSC CGL T2, 17 Feb 2018Alg (VP) a  



34

If x + y +z= 0,  then the value of

𝒙𝟐 + 𝒚𝟐 + 𝒛𝟐 ÷ 𝒛𝟐 − 𝒙𝒚 𝒊𝒔:

यदि x + y +z= 0 है, तो (𝒙𝟐 +  𝒚𝟐 +  𝒛𝟐)  ÷

𝒛𝟐 − 𝒙𝒚 का मान है:
a) -2   b) -1
c) 2   d) 1

SSC CGL 10 June 2019 S1Alg (VP) c  



35

If 𝒂 + 𝒃 + 𝒄 = 𝟎, then find the value of 
(𝒂2+𝒃2+𝒄2)²

𝒂2𝒃2+𝒃2𝒄2+𝒄2𝒂²
. 

यदि 𝒂 + 𝒃 + 𝒄 = 𝟎 है, तो (𝒂2+𝒃2+𝒄2)²

𝒂2𝒃2+𝒃2𝒄2+𝒄2𝒂²
का मान ज्ञात करें |

a) 1  b) 2  c) 3  d) 4

Alg (VP) d  
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If 𝒂 + 𝒃 + 𝒄 = 𝟎, then find the value of 
𝒂2𝒃2+𝒃2𝒄2+𝒄2𝒂² 

𝒂𝟒+𝒃𝟒+𝒄𝟒 .

यदि 𝒂 + 𝒃 + 𝒄 = 𝟎 है, तो 𝒂2𝒃2+𝒃2𝒄2+𝒄2𝒂² 

𝒂𝟒+𝒃𝟒+𝒄𝟒 का मान ज्ञात करें |
a) 

𝟐

𝟑
  b) 

𝟑

𝟐
  c) 

𝟏

𝟐
  d) 

𝟑

𝟒
 

Alg (VP) c  



If 𝒂 + 𝒃 + 𝒄 = 𝟐𝒔, then 
𝒔−𝒂 𝟐+ 𝒔−𝒃 𝟐+ 𝒔−𝒄 𝟐+𝒔𝟐

𝒂𝟐+𝒃𝟐+𝒄𝟐

अगर 𝒂 + 𝒃 + 𝒄 = 𝟐𝒔 है तो 𝒔−𝒂 𝟐+ 𝒔−𝒃 𝟐+ 𝒔−𝒄 𝟐+𝒔𝟐

𝒂𝟐+𝒃𝟐+𝒄𝟐 :
a) 𝒂𝟐 + 𝒃𝟐 + 𝒄𝟐  b) 0   c) 1   d) 2

37Alg (VP) c  
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If 𝒂𝒃 +  𝒃𝒄 +  𝒂𝒄 =  𝟎 then the value of 
𝟏

𝒂𝟐−𝒃𝒄
+

𝟏

𝒃𝟐−𝒂𝒄
+

𝟏

𝒄𝟐−𝒂𝒃
 is

अगर 𝒂𝒃 +  𝒃𝒄 +  𝒂𝒄 =  𝟎 है तो  𝟏

𝒂𝟐−𝒃𝒄
+

𝟏

𝒃𝟐−𝒂𝒄
+

𝟏

𝒄𝟐−𝒂𝒃
 = ?

a) 0  b) 1  c) 3  d) 𝒂 +  𝒃 +  𝒄 

Alg (VP) a  



39



40

Find the value of 𝒂 𝒃 − 𝒄 3 + 𝒃 𝒄 − 𝒂 3 + 𝒄 𝒂 − 𝒃 3. 
𝒂 𝒃 − 𝒄 3 + 𝒃 𝒄 − 𝒂 3 + 𝒄 𝒂 − 𝒃 3 का मान ज्ञात करो |  
a) 𝟑𝒂𝒃𝒄    
b) 𝒂 − 𝒃 𝒃 − 𝒄 𝒄 − 𝒂  
c) 𝒂 − 𝒃 𝒃 − 𝒄 𝒄 − 𝒂 𝒂 + 𝒃 + 𝒄
d) 𝒂 + 𝒃 𝒃 + 𝒄 𝒄 + 𝒂 𝒂 + 𝒃 + 𝒄

Alg (VP) c  



41

If 𝒙𝟒 + 𝟐𝒙𝟑 + 𝒂𝒙𝟐 + 𝒃𝒙 + 𝟗 is a perfect square, where a and b are 
positive real numbers, then the value of a and b are
यदि 𝒙𝟒 + 𝟐𝒙𝟑 + 𝒂𝒙𝟐 + 𝒃𝒙 + 𝟗 एक सम्परू्ण वगण है जहााँ a तथा b धनात्मक 
वास्तववक संख्या है तो a और b का मान क्या होगा ?
a) a = 5, b = 6   b) a = 6, b = 7  
c) a = 7, b = 6   d) a = 7, b = 8

SSC CGL T2, 1 Dec 2016Alg (VP) c  



If 
𝒙+𝒚

𝒛
= 𝟐, then what is the value of 

𝒚

𝒚−𝒛
+

𝒙

𝒙−𝒛
?

यदि 𝒙+𝒚

𝒛
= 𝟐 है,तो 𝒚

𝒚−𝒛
+

𝒙

𝒙−𝒛
 का मान क्या है? 

a) 0  b) 1  c) 2  d) -1

42
SSC CGL T2, 20 Feb 2018Alg (VP) c  
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If 𝒙 = 𝒂
𝟏

𝟐 + 𝒂−
𝟏

𝟐, y = 𝒂
𝟏

𝟐 − 𝒂−
𝟏

𝟐 then value of (𝒙𝟒 − 𝒙𝟐𝒚𝟐 − 𝟏) + (𝒚𝟒 −
𝒙𝟐𝒚𝟐 + 𝟏) is

अगर 𝒙 = 𝒂
𝟏

𝟐 + 𝒂−
𝟏

𝟐, y = 𝒂
𝟏

𝟐 − 𝒂−
𝟏

𝟐 है तो (𝒙𝟒 − 𝒙𝟐𝒚𝟐 − 𝟏) + (𝒚𝟒 −
𝒙𝟐𝒚𝟐 + 𝟏) का मान पता करो|
a) 16  b) 13  c) 12  d) 14

Alg (VP) a  



If 𝒂 + 𝒃 + 𝟒 𝒂𝒃 + 𝟒 𝒂 + 𝒃 − 𝟒𝒂𝒃 = 𝟎 and 𝒂 ≠ −𝟒, 𝒃 ≠ −𝟒, then 
𝟏

𝒂+𝒃+𝟒 𝟏𝟏𝟕 − 𝟐−𝟐𝟑𝟒  is equal to:

a) 
𝟏

𝟒𝟏𝟏𝟕 b) 
𝟏

𝟐𝟏𝟏𝟕  c) −
𝟏

𝟐𝟐𝟑𝟒  d) 0

44
SSC CHSL  11 Jul 2019 S2Alg (VP) d  



If 𝒂 + 𝒃 + 𝒄 = 𝟏 and 𝒂3 + 𝒃3 + 𝒄3 = 𝟒, then find 
𝟏

𝒂+𝒃𝒄
+

𝟏

𝒃+𝒂𝒄
+

𝟏

𝒄+𝒂𝒃
=?

यदि 𝒂 + 𝒃 + 𝒄 = 𝟏 और 𝒂3 + 𝒃3 + 𝒄3 = 𝟒 हो, तो 𝟏

𝒂+𝒃𝒄
+

𝟏

𝒃+𝒂𝒄
+

𝟏

𝒄+𝒂𝒃
=?

a) 1  b) -1  c) -2  d) 3

Alg (VP) c  



46



For 𝒂 > 𝒃. if 𝒂 + 𝒃 = 𝟓 and 𝒂𝒃 = 𝟔, then the value of 𝒂𝟐 − 𝒃𝟐 is
अगर 𝒂 > 𝒃 और 𝒂 + 𝒃 = 𝟓 और 𝒂𝒃 = 𝟔 तो 𝒂𝟐 − 𝒃𝟐 का मान:
a) 1  b) 3  c) 5  d) 7

47MP Police Memory Based 8 
Jan 2022 S1

Alg (VP) c  



If 𝒙 − 𝒚 = 𝟐, 𝒙𝒚 = 𝟐𝟒, then the value of (𝒙𝟐 + 𝒚𝟐) is
अगर 𝒙 − 𝒚 = 𝟐, 𝒙𝒚 = 𝟐𝟒, तो (𝒙𝟐 + 𝒚𝟐) का मान:
a) 25  b) 36  c) 63   d) 52

48Alg (VP) d  



If 𝒙𝟑 + 𝒚𝟑 = 𝟑𝟓 and 𝒙 + 𝒚 = 𝟓, then the value of 
𝟏

𝒙
+

𝟏

𝒚
 will be

अगर 𝒙𝟑 + 𝒚𝟑 = 𝟑𝟓 और 𝒙 + 𝒚 = 𝟓, तो 𝟏

𝒙
+

𝟏

𝒚
का मान:

a) 
𝟏

𝟑
   b) 

𝟓

𝟔
   c) 6   d) 

𝟐

𝟑

49Alg (VP) b  



Given that 𝒙𝟑 + 𝒚𝟑 = 𝟕𝟐 and 𝒙𝒚 = 𝟖 with 𝒙 > 𝒚, then the value of 𝒙 −
𝒚 =?
अगर 𝒙𝟑 + 𝒚𝟑 = 𝟕𝟐 और 𝒙𝒚 = 𝟖 ; 𝒙 > 𝒚, तो 𝒙 − 𝒚 =?
a) 6   b) 2   c) 8   d) 9

50Alg (VP) b  



If 𝒑 + 𝒎 = 𝟔 and 𝒑𝟑 + 𝒎𝟑 = 𝟕𝟐, then the value of 𝒑𝒎 is
अगर 𝒑 + 𝒎 = 𝟔 और 𝒑𝟑 + 𝒎𝟑 = 𝟕𝟐 है तो 𝒑𝒎 का मान:
a) 6   b) 9   c) 12  d) 8

51Alg (VP) d  



If 𝒂𝟑 − 𝒃𝟑 = 𝟓𝟔 and 𝒂 − 𝒃 = 𝟐 then value of 𝒂𝟐 + 𝒃𝟐 will be
अगर 𝒂𝟑 − 𝒃𝟑 = 𝟓𝟔 और 𝒂 − 𝒃 = 𝟐 तो 𝒂𝟐 + 𝒃𝟐 का मान:
a) 48   b) 20  c) 22   d) 5

52Alg (VP) b  



If 𝒂 − 𝒃 = 𝟑 and 𝒂𝟑 − 𝒃𝟑 = 𝟐𝟕 then (𝒂 + 𝒃) is equal to
अगर 𝒂 − 𝒃 = 𝟑 और 𝒂𝟑 − 𝒃𝟑 = 𝟐𝟕 है तो (𝒂 + 𝒃) समान है:
a) 3   b) 5   c) 7   d) 9

53Alg (VP) a  



If 𝒂𝟑 + 𝒃𝟑 = 𝟗 and 𝒂 + 𝒃 = 𝟑, then the value of 
𝟏

𝒂
+

𝟏

𝒃
 is

अगर 𝒂𝟑 + 𝒃𝟑 = 𝟗 और 𝒂 + 𝒃 = 𝟑 है तो 𝟏

𝒂
+

𝟏

𝒃
का मान:

a) 
𝟏

𝟐
   b) 

𝟑

𝟐
   c) 

𝟓

𝟐
   d) -1

54Alg (VP) b  
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